S2 Robotics Lesson 5
Nested Loop
A nested loop is a loop within a loop, an inner loop within the body of an outer one.
How this works?
In the following problem, the first pass of the outer loop triggers the inner loop, i.e. the placement of the first line of cube.
Then the second pass of the outer loop triggers the inner loop again, i.e. the placement of the second line of cube. This repeats until the 4 outer loop finishes.
Hints: Each line start at a different location, you have to modify the variable YLayer1 to reflect the change
Rewrite the Challenging programming problem by using a nested loop.






The location of the picking bay is (255,-90)
	
	Locations

	Line 1
	(216, 36), (240, 36), (264, 36), (288, 36)

	Line 2
	(216, 12), (240, 12), (264, 12), (288, 12)

	Line 3
	(216, -12), (240, -12), (264, -12), (288, -12)

	Line 4
	(216, -36), (240, -36), (264, -36), (288, -36)


Write down the locations of all the cubes for the following program
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	Locations

	Line 1
	(220, 30)

	Line 2
	

	Line 3
	

	Line 4
	



Arrangement of cubes into a triangular pattern
Problem I








The location of the picking bay is (255,-90)
	
	Locations

	Line 1
	(216, 36), (240, 36), (264, 36), (288, 36)

	Line 2
	(216, 12), (240, 12), (264, 12), (288, 12)

	Line 3
	(216, -12), (240, -12), (264, -12), (288, -12)

	Line 4
	(216, -36), (240, -36), (264, -36), (288, -36)


Hints:
set times to 4,
set times to times -1
Problem II








The location of the picking bay is (255,-90)
	
	Locations

	Line 1
	(216, 36), (240, 36), (264, 36), (288, 36)

	Line 2
	(216, 12), (240, 12), (264, 12), (288, 12)

	Line 3
	(216, -12), (240, -12), (264, -12), (288, -12)

	Line 4
	(216, -36), (240, -36), (264, -36), (288, -36)


Hints:
set times to 1,
set times to times +1
Problem III






The location of the picking bay is (255,-90)
	
	Locations

	Line 1
	(216, 36), (240, 36), (264, 36), (288, 36)

	Line 2
	(216, 12), (240, 12), (264, 12), (288, 12)

	Line 3
	(216, -12), (240, -12), (264, -12), (288, -12)

	Line 4
	(216, -36), (240, -36), (264, -36), (288, -36)


Hints:
set XStart to 288, YStart to 36, 
set XLayer1 to XLayer1 -24, YLayer1 to YLayer1 -24
Problem IV






The location of the picking bay is (255,-90)
	
	Locations

	Line 1
	(216, 36), (240, 36), (264, 36), (288, 36)

	Line 2
	(216, 12), (240, 12), (264, 12), (288, 12)

	Line 3
	(216, -12), (240, -12), (264, -12), (288, -12)

	Line 4
	(216, -36), (240, -36), (264, -36), (288, -36)


Challenging programming problem
Problem 1
Hints:
set OffSet to 0
Set XLayer1 to XLayer1 + OffSet
Set OffSet to OffSet +12



Problem 2
Hints:
How to change the coordinates from XY plane to XZ plane
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